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1. Please find the line tangent to the curve y*-4x*+8y+20=0 at the point
(3, 2). (10%)
2. Please find the line normal to the curve y%4x*+8y+10==0 at the point
(4, 4). (10%)
3. Please solve the differential equation Z—z — 3x2ﬁ, y=>0. (10%)
4. Please solve the equation e3Y = 3 + sinx. (10%)
5. Please find é—i;sin'l y, if y=x*. (10%)
6. Please find fi cos ¥y + sinx) dx. (10%)
2
7. Please solve the equation c:;’; - Z—Z + 2y = 0.(20%)
8. Please find the following integral and draw the area
f: fox 2x siny dy dx. (20%)
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